70°

70°




2.

BHA1E By [ ]ot] gure 2 AHYE & A
AUt

6.34=6+0.3+0.04

3.72 =] |+ |+ |
O 3,7,2 ® 3,0.7,0.2 @3,0.?,0.02
@ 30,7,0.2 ® 30,0.07,0.02

3.72=3+0.7+0.02




0.006 -] ]-0.008 -
@0.007, 0.009 @ 0.0065,0.0085 @ 0.07,0.09
@ 0.0065,0.008 ® 0.007,0.0085

B

0.008 — 0.006 = 0.002°]c}.

w2hA 0.0017HE FHof Al71E k.
A7 [ |=0.006 + 0.001 = 0.007
=9 [ ]=0.008+ 0.001 = 0.009




%Hﬁ}iioowl 1891 Z=Hr} Zhe
ot 7P A2 o] g Foh L.
=K

[ 2
> ®eh: 0.23

S

FolA 7+

0.05<[ ]<0.18

A o = A 017, A ZE 2 1 006

(F %] 8= 0.17 + 0.06 = 0.23




5. e FoIA AR Fabt b & A ol AelA FokAle

@ 1.007 + 2.06 @ 0.936 + 2.87 ® 3.02+0.98
@ 5.61+1.907 @6.75 +1.98

B

@ 1.007 + 2.06 = 3.067
@ 0.936 + 2.87 = 3.806
3 3.024+0.98 =4

@ 5.61 +1.907 = 7.517
® 6.75 + 1.98 = 8.73




>
4
1o
ng
0%
o
_o'lg
>

[ 2
> =g 5.068

7.05

—1,982

6 91410
O
-1.982
-5.068




(1) 3.6km +2607m =] Jkm
(2) 2130m + 0.49km = |km

D (1) 6.217 (2) 2.52 @ (1) 6.217 (2) 2.62
® (1) 6.207 (2) 2.52 @ (1) 6.207 (2) 2.61
@) (1) 6207 (2) 2.62

(1) 3.6km + 2.607 km = 6.207(km)
(2) 2.13km + 0.49 km = 2.62(km)




) 28 cm = Dm
()6m750m Dm

@ (1) 0.028 (2) 0.675 @ (1) 0.028 (2) 6.75
® (1) 0.28 (2) 0.675 @(1) 0.28 (2) 6.75
® (1) 2.8 (2) 0.675

B

(1) lem = 0.01m

28cm = 0.28 m

(2) 6m75cm = 6m + 75 cm
=6m+0.75m = 6.75m




2l

¥ 0.39m

o
g

1.36m
¥ 0.97m, 7F &

0.97 + 0.39 = 1.36(m)

b

7}




10.

Zol7} 315ecm Q! FolHlo|Z 2 = BB glo] 37|17} 2 A4zt
= TEo] 15l 1704 Yol 81 gyt ThE Aty
St O] Zo| & HotA| 2
> E: cm
[> HE: 7cm
1530 A g AR iro] FEE2 A7 o] Mo £ 15%x 3 =
45(78) 7F Byt
=, 315cm 9] Fo] Ho|ZE 4572 Y 4Zh o] St 1 9]

2ol2 7 & Usict
315+ (15 x 3) = 7(cm)




